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Duration : 150 Minutes

1. Please check the Test Booklet immediately on
opening and ensure that it contafhs all the 150
multiple choice questions printed on it i.e 1-75
questions in Section-| (General Knowledge) and
76-150 questions in Section-ll (Secretarial
L Abilities)

2. Separate Optical Mark Reader (OMR) Answer
Sheet is supplied to you. The OMR Answer
sheet contains Hall Ticket Number, Paper
Code, Booklet Series, Venue Code, Signature
of the Candidate and Invigilator etc.,

. If there is any defect in the Question Paper
Bookiet or OMR answer sheet, please ask
the invigilator for replacement.

4. Since the answer sheets are to be scanned
(valued) with Opftical Mark Scanner system,
the candidates have to USE BALL POINT
PEN (BLUE/BLACK) ONLY for filing the
relevant blocks in the OMR Sheet including
bubbling the answers. Bubbling with Pencil /
Ink Pen / Gel Pen is not permitted in the

" examination.

5. The Test Booklet is printed in four (4) Series,

viz. A or B or C or D. The Series A or B or
C or D is printed on the right-hand corner of
the cover page of the Test Booklet. Mark your
Test Booklet Series on side 1 of the OMR
+ .Answer- Sheet by darkening the appropriate
7 circles with Blue/Black Ball Point Pen.

Example to fill up. the Booklet Series :
If your Test Booklet Series is B, please fill
as shown. below :

Test Booklet Series
@

©

If you have not marked the Test Bookiet
Series at side 1 of the OMR Answer Sheet
_or marked in a way that it leads to discrepancy
in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet
will be invalidated without any further notice.
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SECTION -1 .
GENERAL KNOWLEDGE

1. - Examine the following statements :

A. T.B. Radhakrishnan was sworn in as

- the Chief Justice of High Court of
Judicature at Hyderabad on 7™ July,
2018. ;

B. He was the Chief Justice of Rajasthan
High Court from January 31, 2017.

C. He hails from Kerala state.

D. He secured his LL.B. degree from

Government Law-  College,
Thiruvananthapuram.

806 D3SO HBO0B0H.

A Boomrn, @SoBHST oo

TS 223A8N0 Yde TSRS
O 08T 3.D. TSRS
2B, 7, 2018 ' (N VG0

T, .

B. @& 28550 31, 2017 Hod TaEyl s
TED DTS T O8O
DATP®.

C. & I8¢ ool AT,
"D DS o T8E aSHSIS09S0
08 B85 ISISD. v BB .nc;;'éa
SFOTEN. -

Choose the correct answer.. - -
DOTS 220D DODE BohHod :
(1) A, B&Conly ‘23)4{0 only
(3) B&Donly A:-C & D only

2. According to the 'Public Affairs Index’
(PAIl) 2018 released by the think tank
Public Affairs Centre (PAC) on July 22,
2018, which states stood in the first three
positions ?
(1) Andhra Pradesh, Kerala & Telangana
(2) Guijarat, Tamil Nadu & Andhra Pradesh
(3) Kerala, Tamil Nadu & Telangana
(4) Kerala, Gujarat & Karnataka
8 éooa@ e o)i)g J2bY 2B 22,2018
S DB BAS DG dB) =R0TBS)

(2018 &rw)’ [_Zas*do @ Olafen Il
Sorcdy S’ ddraw ?
SOIPOTT, S8, Bwome.

(2) HBTSE, SNETR, BOIBINTIE.
(3) S8¥, danardh, Seorre.
(4) 38¢, LTS, Sor 8.

Series-A ' | 4

(4) ®O SOGWE T°aren

Which one of the following elements was -

detected recently .by the NASA/ESA

Hubble telescope on the exoplanet
WASP-1076 which orbits a star that is
about 200 light years away ?

(1) Helium - (2) Hydrogen

(3) Platinum (4) Oxygen -

200 5708 JoS$ o0 SrdosS 2.8 SEis
$54S° &5 AEITE H205.0).00.D-1076
B DT/ F20)S BOKLD o0 §obd.
Aarosos J N80 ? .

(1) EOcho 425/&.‘;;%@159&5)
(3) Jeddo - (4) @2 (@8yes)

Disaster mitigation embraces measures

taken to reduce the :.

A. Effect of the hazard

B. Vulnerable conditions

C. Scale of a future disaster

DHEY EDIS S0 BSEsen Eod are3S

3632 S$NoEr8 SXnd00erds ?

A 10 D0

B. 3% 3Ofos (&')@;6&»5) 6@ A&y
DOPSHE

C. BAJ5S DHHY Fraw

Choose the correct answer :

26 2720 JODE Do
A & Bonly (2) AB&C

(3) A&Conly  (4) B&Conly

Which one of the following countries
withdrew from ‘nuclear deal’ with lran ?
(1) Russia :

(2) South Africa

(3) The United Kingdom

(4) "The United States of America
QRS Ko ‘JdorBond ad)odo’ Hod
80O ¢3S’ 2 B30 &ID0TB0HR 0 ?
(1) &ars '

g—;}&m 85
WZBE 8ohcd
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. (3) B&Donly

_to antibiotics ? :

18130
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Which of the following are related to Agni- |9,

V missile ?

A. Intercontinental ballistic missile (ICBM)
B. Solid fuelled ballistic missile

C. Four stage missile -

D. Air to surface launchable missile.
8005¢3S" awh)-5 80638 D0VOBODID
D ?

A 200G 2rOYE § 168 (9DDHN0).

2rOPE § 068,
C. Twfiode §H8.

D. AdSSe0o od
IR § Hed,
Choose the correct answer

QO B2 DODHE ToHod -
A,B&Conly (2) A&Bonly
(4) A&.D only

Brsderds

What is the name of the new drug
developed by scientists as an alternative

(1) -Orbactiv (2) Dalvance
(3) Sixertro (4) Stephefekt
ASr0e323B7¢38 3% (&) Ao

PSS @DIYRDODS Sreded TASO
03 ?

(1) esber§s
(3) DT B

(2) o855,
RIDE

Match the following :

Contamination  Disease _
A. Fluorine 1. Blue baby disease
B. Nitrogenous 2. Bone marrow
oxides disease
C. Phosphorous 3. Fluorosis
oxides
808 3R BSHES0A :
Sendrdbo ST A
A. 88 L 238 a0
B. S50 2. ddwEes
e3)8) . ek a78d
C. TR E)E) 3. P& -
Choose the correct pairs/answer :
DOTR BSOG/B 208 DONDE FAHOA -
(1) A-3,B-2,C-1 A-3, B-1, C-2
(3) A-2,B-3,C-1 (4) A-1,B-2,C-3

10.

i 0 /S

GET IT ON
Google Play

Which of the following factors are
responsible for the present crisis in the
jute industry in India ?

A. . The decline in overseas market

B. Inadequate supply of raw jute

C. Stiff competition from
A packing materials
TESTIOS” 2IDTE HOPFHS (Hues
Q0§2rN8 sSeTen 808 78S D ?
A DB 35885’ £ raes
B. Q8 S 230578 HoH
C. ?oc;sc‘,ﬁe.iﬁ Fs8of dorgro Sod #es
&
Choose the correct answer :
boYe! B0 DONE TAHOA :
_ ﬁg B only (2) B&Conly
(3) A& Conly (4) ALB&C

Which of the following factors are
responsible for India's failure to fully
exploit the inland fisheries during the last
five decades ?
‘A. Silting and poliution of the inland
water bodies
B. Deforestation in the catchment areas
of the rivers
C. Lack of marketing facilities
Hed 00 Srerd’ Bah Ioe 0JSA)
FOT A8 NTriio. BESB0S 2rdes
8268 808 ¢35 DD s eren ?
A BRAH De8 SS5He sendso SO
20D HYS JFASSLo.
B, 5¢50e 585%5¥ |r0mS’ estod) DS e,
C. 3rBy¢30R Saraire S5,
-Choose the correct answer
QO 2200 JodE TaHod :
(1) AB&C (2) A&Bonly
(3) A&Conly (4 only

synthetic

The three primary soil macronutrients are :
(1) Carbon, oxygen and water

(2) Copper, cadmium and carbon

(3) Potassium, phosphorus and nitrogen

(4) Boron, zinc and manganese

SOS’ @08 St [ EE o SFasen
(S5 5 (6350065)) DD ?

(1)_8)8, e85 HH85 H&
zﬂrﬁ& 575320503 BN 56

(3) &ErATHO, IR SHOL FES2S
(4) oS, 208 O SroXHD

Series-A
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13.

14.

“’é})/A &Conly  (4) B&Conly
Seriet-A

L IINNNNNNNNN————————

Which one of the following statements
describes cartography most accurately ?
(1) Wt is the science of map making and
map,designing. ikl
t is the science of symbolic
representation.
(3) It deals with construction of
projections. ;
(4) ltis the science of data collection.
808 o8 TIO ST TTRS
HOTR DSIBE DO ?
(1) H60 JT0 HOAD HELO SArdd
DoHErDE H020H0DS FLRO.
28 HOES (FBASS FTANO.
20 15 56000 D018 BOAEIR. -

(2)
(3)
(4)

Q0.

Which erstwhile district of Telangana has
seen maximum growth rate of towns ?

(1) Mahabubnagar (2) Ni abad
(3) Medak wﬁmddy

BoornsS e DEHGO B P
DB FE50 BTES KOROT GOBOD ?

(1) SHTarSSis (2) dusrard

(3) D&SE . (4) SorrBé
Administrative regions are generally
accepted as planning regions because :
A. Itis a formal region.

B. It provides for original hierarchy.

C. Plan formulation ~ and
implementations need administrative
machinery.

HOTORT SOBETOD FRFHSOT DD

SoocseT e 0B DI ?

A 2b 28 ©5508 SHode0.

B. 2O 3IndeT T80Ee5R) 50008,

C. DT EB3% HOAN @Hensd
KOO aHolErohic @S080.

Choose the correct answer : - hu

HOTHS Barzn) HONE TAOH

(1) A,B&C (2) A&Bonly .

28 AT0F VESOEH HOWOHODN |

15.

16.

GET IT ON
Google Play

Match the following :

. B.

List-1 List - II
A. V.K.RV.Rao 1. Poverty
estimation
Sukhamoy 2. National Income
Chakravarthy estimation
C. Raja Chellaiah 3. Fiscal policy
D. Dandekarand 4. Development
Rath planhing
206 33 23808308 ¢
- O9-1 OP-1l
A JBsED.OH 1. OB
BOITED
B. PHSrad 2. FARTTOD
v 91888 SOTIT D
c. o 3oy 3. o
D. X088, 8& 4., @DIE
: DT LS SO

Choose the correct pairs/answers :

HOENS 2SN/ 20 E ToHod:
&1; -2, B-1,C4, D-3 E A4, B-1,C-3,D-2
3) A-3,B4,C-2, D1 (4) A2, B4, C-3, D1

Examine the following statements :

A.

B.

C.

D.

If a person works for four or more

than four hours, he/she is considered

as employed for the whole day.

A person having worked for less than

one hour for one day of a week is

termed as employed for a week.

The current daily status considers the

activity of a person for each day of the
receding seven days.

f a person works between one hour

and four hours during the day, he/she

is considered as partiafly employed.

2808 D3SO HBFDosod :

A.

2.8 358 2.8 B S Trenth fotven B
©0S% oD HATR @S/
@& 3370 Gor &Sshm HORIT .
2.8 %58 2.8 50’ DE 28 Bex 2.8 o
E0) S50 HITR S/ LD e
FE0 §EE e ST HOREST 0.

908555 300K A Ferrer Ty (DS
2.8 S8 HATR ) 88D
ooy VA HOXBNOH.

2.8 38 2.8 Tar 2.8 K0 oD Frentd
B8 SEH HATR GSAY/ LD
8 E &R @0,

Choose the correct answer :
DO 220D HODE WO !

(1)
(3)

A,B&Conly (2) A B&Donly
A, C &Donly B, C & D only
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17.

As per 2011 Census and Socio Economic
Outlook-2018 of Telangana government,
the following districts of Telangana had

~more than 53 percent of total population

18.

18130

as working population. - Arrange- these
districts in descending order on the basis
of their percentage of working population :
Jagtial

Jayashankar Bhupalpally

Jogulamba Gadwal

Nirmal

Rajanna Sircilla

2011 BT ferosten HBA Seorrs

moom»

(DS FABT DESE TeSen§-2018

D580 Boornd'd 808 Berod 53
TS0 50V QB zarer |FodoenrT
gm0, (T8 2 B0 egrdor &
2T O BITTET |F00" @HE 05 :
A 205 .

B. 2004080 raredd

C. Sero KerssS

D. 55

E. oad) 0% _

Choose the correct order/answer :

QO3 1F00/233220 JODE TAH oS :
(1) A/E,B,C&D (2) D,C,E,A&B
(3) C,E,A,B&D (4) D,C,B,E&A

In comparison to the 13" Finance
Commission, the 14" Finance Commission
incorporated which of the following new
variables for tax devolution ?

A. Fiscal discipline of states

B. Forest cover '

C. Human Development Index of the
state

D. 2011 population

135 DG (RS oo POV, 148
DY DJoo Hdye HoHed FHo 8o
TS J TS PeroToOd HOKSSE
B0 ?

A. oare @Qé ENREE

B. e&d dAYo '

C. T3 e e9ddSyd QD

D. 2011 a5y

Choose the correct answer:

QOIS 232N VODE TCHOS

(1) A&B only (2) A, B&Donly
(3) B&D only (4) C&Donly

19.

20.

GET IT ON
Google Play

Elements of the basic structure of the

Indian Conslitution as enunciated by the

Supreme Court include :

A. Free and fair elections

B. Secularism

C. Federalism

D.” Supremacy of the fundamental rights
over directive principles of state policy

Q@o  FH  D5BoDSEN™ 2rEs

T2301:) [ GE Do°2E006S 80O Te3S

A D GoeTaD ?

A &OS HBXN deranddsSor =67
D) Sew,

B. &bz (3°85a0¢%0)

C. DEBED20 (VST sae50)

D. JP3E Ir@roDn [TFOANE Fiyo
sIS50

Choose the correct answer :

QB 2720 ONE TG :

(1) A,B&Donly (2) B,C&Donly

(3) A, C&Donly (4) A B&C only

Examine the foltowmg pairs pertaining to
Telangana demography as per 2011
Census and Socio Economic Qutlook-
2018 of Government of Telangana :

. Literacy rate in 2011 in Telangana —
66.54%
Decadal growth rate during 2001-
2011 .in Telangana — 15.57%
‘Urban population to total population
in 2011 in Telangana - 40.88%
Sex ratio of population in 2011 in
Telangana — 988
Density of population in 2011 in
Telangana — 342.
2011 237> Hegrosen O Bworres

DS ‘PRI IESWE TeSens-2018'

m O O W

D580, B0 2aver So0HS &b

2808 D83D0%0A

A. 20115’ Boorss w§odge e
-~ 66.54 F°¢40. '

B. 8oored 2001-2011 |, d7asred)

BT S9& BED — 15.57 350,
C. 20115 Boorns IJnso zarerds
2&ED 23772 — 40,88 F+50.
D. 2011’ 8worrseS’ ok DA)S - 988,
E. 2011 8womes’ sy o\l - 342
Choose the incorrect pairs :
QO SR 2D JODE TAHOS
(1) A,C&Donly (2) B,C&Eonly
(3) AAB&Eonly (4) B,C&Donly
Series-A
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21.

o .

A.

B.

C.

D.

A.

C.

D.

The National Advisory . Council (NAC)

played an important role in bringing in

legislations like

A. The Mahatma Gandhi National Rural
Employment Guarantee Act

B. The Right to Information Act

C. The National Judicial Appointments -

Commission (NJAC) Bill
D. The Citizenship (Amendment) Bill 2016
80% @IDAD TES QDo

DNET BB 2PRCH DO HOBE)

(DRIR) SRS P A0V ?
A 25) mod 2AOD (Fabe Gard
I d&o.

DAPTS T o, -

27300 0N AATse ENAS
(DSBI) e,

DA 30 (DdGe) Dew, 2016.
Choose the correct answer «

DO 22a7720/0 DODE TANOA :

(1) A&Bonly (2) A&Conly

(3) A&Donly  (4) B&Conly

O OwW

Match the following :
List-1
Kesavananda
Bharati
Indira Nehru
Gandhi Vs Raj
Narain
L.Chandrakumar
Vs UOI powers
S.R. Bommai 4. Tribunals .
808 a¢3Q 2BHNBLI0E
Of-1 Ol

Birdod a8 1. &S S8akw
T OODS
D) Sen
&R 80y

List - 1l

1. Free and fair
elections

2. Right to property

3. Emergency

ROOSTT I 2.

mod 3830 ovef

T O0ED

2. Ho|B%drd 3.

INTORTSROVINER HST D

DR.68. Son 4 135S,
Choose the correct pairs/answer :
DOTS 2ederd)/2:7200 JONE TOHOH :
(1) A-1,B-3,C4,D-2 (2)A-2,B-1,C-4,D-3
(3) A-3,B-2, C-1,D4 (4)A-2,B-3, C4,D1

@555

Series-A

23.
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Google Play

Match the following :
List - |
A. Right to Equality 1.

‘B. NJAC case 2.

C. Reservations 3.

D. Right to Privacy 4.

List - I
Indra Sawhaney

Vs UOI

Justice K.S.
Puttaswamy Vs
uol

Menaka Gandhi
Vs UOI
Supreme Court

Advocates-on-
Record
Association Vs

~UOI
808 ¢3Q 235DHBTI0 -
OR-1 OH -1l
A SSrSS55Y 1. RO I
80 ‘ NBI0 OB
B. 2r&0H 0D 2. 29D TID.
QCITTNE DET L DB
EAAS. B TOWWEH~ I
C. 62850 3. DS rod
SBI0 Ol
D. [DSD Hdy 4. o §P
- L o8s8S yes-
85°9
O FVAD
NBIR e

Choose the correct pairs/answer :
HOTDS 2S8/2T 200 DODE Tohod :

(1) A-1, B2, C-3, D-4
(2) A-2, B-3, C-4, D-1
(3) A-4, B-3, C-2, D-1
(4) A-3, B-4, C-1, D-2

18130
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24. Examine the following statements :

A: A member of Parliament shall be
disqualified for being a member of the
House if he has voluntarily given up
his membership of such political
party. _

B. A member of Parliament shall be
disqualified for being a member of the
House if he speaks against the leader
of the party hé belongs to.

C. A member of Parliament shall be
disqualified for being a member of the
House if he supports a no confidence
motion against his own government.

D. A member of Parliament shall be
disqualified for being a member of the
House if he votes or abstains from
voting in such House contrary to any
direction issued by the political party
that-he belongs to.

808 3B H82OD0V0A :

A L8 >OR0oES D S oralah
8 B8 D50 done
SN0 &3 HHS Hos B
BOSErD8 @3B wHB .

B. 238 8R0S D5k &8 orafah
T wOTSH S;8Bkor Irtras o
DSBS DA GOBETVE IS
WIYT . :

C. a8 JFoES IHsch edssos’
Sy 85 DHEEIDE SyaBor
OITL BTVTIE PSRN S
TOD0E D8
)T,

D. & J05am &) oradad 8 b
BAS BBTOR S¢BBLOM™ 2.0 IR
S 4830R% &Srdomr &0 &S

TODoE P08 03D
YT, '

Choose the correct answer :

QO 277200 DODE TADOE :

(1) A&Bonly (2) A&Donly

(3) B&Conly (4) C&Donly-

- 18130,

AoVl

|25.

26,

GET IT ON
Google Play

Examine the following statements :

. A. A person chosen to be a chief

minister of a state’ does not have to
be ‘a member of the legislative
assembly.

B. The disqualification attached to a
member of legislative assembly do
not apply to a chief minister.

C. A person chosen to be a chief
minister cannot be sworn in if he/she
has incurred a disqualification
prescribed for a member of the
assembly.

806 D8N HOFOOB0E.

A 28 OR0S Sopio@mr JodE

T TS S58 TR0 Hhm

&GOS @IDB0 Se%.

B. 708303 A 1o 3Qeh
SENIBSH ¢34, S0WE00(ES
5altras eod ©@255¢850 5.

C. e&0DS  JiAT  Goderdd

IO T TAVPe Yo Yo SN WE ST YO TE S To
JODBS & H58 (DSre DTG0
TONE.

Choose the correct answer :

DO B2V DONE TADHOA

(1) A,B&C
(3) B& Conly

(2) A&Bonly
(4) A& Conly

Which of the following are NOT

constitutional bodies ?

A. National Commission for Women

B. National Commission for Minorities

C. National Comniission for Human
Rights )

D. National Commission for Scheduled
Castes

808 ¢3S Trar 0NRS TS Doen Y

DD ?

A Y 2raoh EAS

B. Dxroel aracdh 008

C. S 0o 280% E0AS

D. &rd SHere 2°ahH EAS
Choose the correct answer :

DO BT20D DONE TONOA :

(1) AALC&Donly (2) A, B&Donly
(3) A,B&Conly (4) B&C only

Series-A
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27. Who are the permanent invitees to the |29.. Examine the following statements about
meetings of the Mandal Praja Parishads ? %“ﬁﬁéﬁ#ﬁfﬁmnzﬁfg?%wﬁp :
A. The Collector of the district ' the Governmgnt%of India.

B. The sarpanches of the villages in the B. Itwas launched in 2012.
mandal C. It provides financial assistance to thﬁ
: . ; aged, widows and persons wit
C. The chairerson of the Zila. Fraja disabilities who live below the poverty
Parishad line in the form of social pensions.
DNOB® |1DETIBALE) JrIFTOH T S D. It is administered by the Ministry of
e3¢ QN DK ? ' mté?gl Development, Government of
A 2er 5356 o ) O I IHCH  SEYENO
B. Hod® HBOS PRIEI0eD PSR HOOD® 800  ISEBOD
C. 2C 22001 S d§Fch/o7ed A89D0S50B - .
Choose the correct answer : A 2O rdS (DS 0 Ty SoldEyed
DOBS 220D 0N TOHOS : (BEra3raes HP¥o.
(1) A, B&C (2) A&B only B. & :;c:)s"&);6201 28 Li"'doiboaé@. .
(3) A&Conly  (4) B&Conly C. g‘ggé , Eﬁ @gﬁéséo én ::;i g\:
28. Examine the following statéments : g%?é i%egggféﬁ?o zggiiogés
A. According to Panchayat Act, 2018 of D 208 1D 50 Ty (M i ;)' &
: Telangana state, 4389 new B e Si‘a)?ﬁ ¢ & % Cé% o
panchayats will be created. S 6,515'3‘0 é& &% &o A
B. Andhra Prac!esh 1994 Act of Choose the correct answer :
- Panchayats will apply to the state of DTS e JODE FA0S ;
Telangana. (1) A,B&Conly (2) B,C&Donly
C. According to Telangana Panchayat (3) A,C&Donly (4) B&Donly
Act, 2018, tandas will become gram ;
panchayats and would be reserved |30. Match the following :
for scheduled tribes (STs) only. Act Year
D. According to Telangana Panchayat A. 737 Constitutional 1. . 2018
Act, 2018, nagarapalikas will continue. s SRl 5. 1008
Sob 3&55999&':35%@0150% : C. Telangana Panchayati
A. Soomrn Tla Hoorone o 2018 Raj Act 3. 1994
v - D. Andhra Pradesh 4, 1992
g;;é;; 33?3823 égi Dorronden Panchayati Raj Act 5. 2016
I3 . 808 T3 NG0B
B. e0olSHOT5 1994 Howrowe HYO Séo 50358380
S0orre T8 S83pd. A T3S OErgon 088 1. 2018
SrSmon LB T8 NErS < ?%C’gg(fom‘c‘”é % 1994
S 08 S 020§ TA . D. soBHET S 5 4 1992
D. Sworsn HoTrone o, 2018 oS 3690
(D0 S FOEen TS v 0. 5 2016
- Choose the correct answer : Choose the correct pairs/answer :
DO BTz JODE BAHOE ! DO BSe/255208 ODE TAHos :
(1) A&Bonly (2) A& Conly (1) A-1, B4, C-5, D-3 (2) A-4,B-2,C-1,D-3
(3) B&Donly (4) B&Conly (3) A-2,B-3,C-1,D-5 (4) A-3,B-2 C-5, D1
Series-A 10 18130
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31.

A

B.

C.

32.

Match the following :

Committee Purpose
Sadiq Al 1. Revitalising the
Committee — 1962  panchayat raj

institutions
Naik Committee 2. High power
- 1963 committee of
Rajasthan
Vyas Committee 3. Report on the
-1971 working of
panchayats
4. Functioning of
panchayat raj
institutions
808 5730 28HB0B
E0e8 &G¥o
68 ed 1. Homrond oo
E0e3-1962 NP
OT=£00
TODE E0es- 2. T HSB Eoes,
1963 (o)~ 1w
50 Eoes- 3. doTaSe
1971 By HAAER
D368
4. JHoTrons oo
S§3e> Ty
PATANTDRATa 2% 1050

Choose the correct pairs/answer ;

QO BSN/2T20 D DoDE TAHOS :
(1) A-3,B-4,C-2 (2) A-3,B-1,C-4

(3) A-1,B4,C-3 (4) A4,B-2,C-3

Which of the following statements is/are true ?

A. Composition of the State Finance

Commission will be provided by the

state government. ]

B. Article 280 of the Indian Constitution
deals with State Finance Commission.

Choose the correct answer : -

(1) Both A and B are correct.

(2) Both A and B are incorrect.

(3) Only Ais correct.

(4) Only B is correct..

800 8S’ B/ HOTDIO/D ?

A O@Q 808 Jo00 ) Frd)d
Do20HS T ) (D20 50 TXOD.

B. oergon @il 280 ole 0¥
D00 K38 ) BOAHBRNOH.

QOB B2 AODE Tchod

(1) A X805 B Bodr S0,

(2) A 000w B Bodr H63DHED 5.

(3) ASTIS$D HOTIA.

- (4) BAr&D S8TSA.

18130_
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33.

35.

GET IT ON
Google Play

Gram Swaraj Abhixan was organised
from 14" April to 5™ May, 2018. Under
which slogan, the campaign was
undertaken

1) Sabka sath, sabka gaon, sabka vikas
2) Apna gaon, apna raaj, sabka vikas

3) Empowerment of women, SCs and STs
4) . Ujjwala panchayat

a0 055725 edASrS s*E5ESrR) DS
14, 2018 DoH. F 5 2018 S8%
AEseFoTH. 806 BS' BAD Hordo
DAV S S5 E00 BHLDA0D ?

(1) OB S, IF 5 S, HST s

(2) @dr) mS, ) ovF, HS5 0

(3) ¥rde, NEFID SN Bk

R&rS B FOSES
“(4) &5 HoTronS
Match the following :
List -1 List-1i
A. Delhi 1. Nana Saheb
B. Lucknow 2. Lakshmi Bai
C. Kanpur 3. Colin Campbeii
D. Gwalior 4. Bahadurshah Il
S08 8 uSHSB0B:
Og— I OP-n -
A. 5 1. oorard
B. of) 2. ©§ 3%
C. 53876 3. §OS 5750035
D. msOHS 4. Bo& aISrSar

Choose the correct pairs/answer :

POV ZSON/2T720 ) DODE TONOA
E‘i A-3, B4, C-2 D-1 2; A-2,B-1,C-3,D4
3) A-1,B-2,C4,D-3(4) A4,B-3,C-1,D-2

Which of the following are functional items
in the Eleventh Schedule of the Indian
Constitution ? :
A. - Conventional energy

B. Public distribution system

C. Small-scale industry

D. Mining

E. Fisheries

o orergofio TIwnE, DBFodS (1)
SIS D530 806 78S D 188
VOFD ? = 4

A FolDoroHE KodSo

B. 102" Hoded S559

C. D885 HOFH

D. ddden

E. Soe)s H81¥0

Choose the.correct answer :

QO BT JODE ToHod

(1) A,C&Donly (2) B, C&E only

(3) AB,D&Eonly(4) A B,C,D&E

Series-A
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36. “The way that the natives were kept away
from the jobs by the British government
has no example that it has occurred in any
other country”-

This was observed by :

(1) Lord Cornwallis

(2) Sir Thomas Munro

(3) Lord William Bentinck

(4) Lord Wellesley

rESEI0S" FRHOLH SR 1N 0
&E8sre Hod IOIVS Yo, B
TioSH 2003 GTIdn o
DO — &8 DSGEIN WD YOG DS ?
(1) sESTOR (H20Y

(2) 38 D S

(3) VO Boe3oh (DY

(4) SR DD

Identify the inscription, which is not
correctly matched with its year of issuing :
Inscription Year
(1) Miyan-mishque epigraph 1681 CE
(2) Gazinagar epigraph 1576-77 CE
(3) Warangal epigraph 1509 CE
(4) Badhshahi Ashurkhana 1592-96 CE
- epigraph
2808 DELIAS BT OS 258 08 27b
TADDBES HD0SSIB0E HBHEBO S,
& FROTR) Mdodod.
TRN0
(1) DTS-
CRSINTe!
(2) 8388 Toso (8.4, 1576-77
(3) SE80ES T3S0 83.1509
(4) erSHaxrer ey (8.4, 1592-96
TR0
‘Simhasana Dwatrimshika’ a telugu work
written by Koravi Goparaju was regarded
as ‘First Encyclopedia in Telugu'. Whose
court poet was Koravi Goparaju ?
(1) Rana Mallu
(2) Raja Kirthivarma
& ; Rana Madhanayaka
4) Abhinava Chandra

BenH S 3»@3)):563 DS ?bd,gco,gorv
DHTODS VOIS oy &
D0 §ED BH0"2 D58 @@‘«6 £D7?
(1) Treoe e

2) oz 8858

(3) o= SroarodSoc

37.

5056,)60
18.3. 1681

38.

(4) e92)eSs5 ToIs _
Series-A 12

39. The
. played a leading role in the activities of

40.

41.

| GET IT ON
Google Play

revolutionary from Andhra who

the Gadar Party was :

(1) Gadicherla Harisarvothama Rao

(2) Duggirala Gopalakrishnaiah

(3) Kanneganti Hanumanthu

(4) Darsi Chenchaiah

RSB 8 sSssrS  1Dswn  ars
IoNS ol  ([ToswmE Todd
DRI DI ?

(1) TA3E FOHE S o

(2) Sbore Faredymadds

(3) EJ]M088 Do

(4) &0) Tosakg

-According to French jeweller Tavernier,

the world famous Kohinoor diamond was
found in the mine of :

(1) Kollur (2) Kolar
(3) Ramallakota (4) Gandikota
(DO S Frd er38)add (Ds°do,

DD0S (DAY oS FIrIrd Slzo
. 5’ &568cH 7

(1) Terd (2) Ferd

(3) ov¥ e (4) K0&S

The founder of Calcutta Indian

Association was :

(1) Ananda Mohan Bose

(2) Surendranath Banerjee

(3) Bipin Chandrapal

(4) Veerendranatha Chattopadhyaya
& 2r8BCH HONO FHHE DS ?
(1) 83083rS 5

(2) HBoSTS BSQ

(3) DDS Sold S

(4) DBodad I&E I

18130
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42. Which one of the following books was |44. Arrange the following days during:

NOT correctly matched with its author ? Telangana movement (1968-71)
Book Author chronologically :
(1) Sukasaptati ~ Palavekirikadiripati a. Telangana Korikala Dinamu
(2) Tarig-e-Ferozshahi— Zia-ud-din Barani b. Telangana Hamali Dinamu
" (3) Nuh-siphir - — Ferishta ¢. Telangana Pataaka Dinamu
(4) Hamsa Vimsathi - Ayylaraju d. Telangana Vanchana Dinamu
_ Narayanamatya . B0 &rdded S0 (1968-71) °¢3 208
808 B33, D SSowSE HOT 2 BI0OH S&D 1E0S 08308 :
S0 O ? a. Boorn §8%e B&o
B8 Sdond b. Beorres HF&rd B0
(1) HF dQe3 - OILBIAHHA C. BOOME HEvE BI0
(2) ODH-2-TE - 2osr ﬁs@é 258 d.  BOOM 30353 Ao
arey Choose the correct order/answer :
(B) sl ~ ORF B E90//2aT20% JoDE Foh -
(4) Kroc{j OB - ADiHT (1) a, b, ¢ d ) b d.s.c
ToRerB (%) cadb . (4) d.ocba

43. Identify the work of Qutbshahi age which

was NOT properly matched with its author. 45. Match the following :

Book  Author List—1 List- 1l
(1) Yayathi Charitram — Ponnaganti ‘A Jalianwala Bagh 1. Hastings
o Telagaggy= B.Ramadandu 2. Waellesley
(2) Vaseyanthi Viksam — Adgignki C. Subsidiary Alliance3. Gopalakrishnaiah -
Gangadhara '

. D. Suppression of 4. Michail ‘O’
(3) Kukutsa Vijayam - Matla Anantha :

(4) Sugreeva Vijayam ~Kandukuri findagpq Ciyer
b 808 T7¢3R) 33583 0B
‘Rudra Kavi -
HHTTere sordd  TodS 80 - OR-1 oR- Il
DELI2BS S3IS 2,868, D ScSowe A 2OAS 1. arRofy :
2HE HOFSB0 B, & S55S , oerh . f
Codod : B. ovodoh 2. 30D
58S SuSones C. RIFITTE 3. FreLynads
(1) dHasred - &) oed 2.G00438
S0 - BOSTEI D. domde 4. 385 2, cahd
(2) Bechod - @08 Korddd | - @d3d
TR0 Choose the correct pairs/answer :
(3) Hodoss) - 58 293089 DO BSR/2T200 DODE FTowod :
ecH0 | (1) A-2, B-1,C4, D-3 (2) A4, B-3, C-2, D-1
(4) 0B DBOHO - EoBETE S ED. (3) A3, B4, C-1, D-2 (4) A-1, B-2, C-3, D4
18130 i3 , Series-A
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Thermal Power

Union

NoPen
A. Beorre rodoH
OAoed
B. 8oomrs

TORATE eHI8)
oS ODS

C. Bvorn d§ne
HAoed

D. §& 30 §85

AaradS

(1) A-2,B-4,C-3, D1
(2) A-1,B-3,C-2 D4
(3) A-2,B-1,C-4,D-3
(4) A-4,B-3,C-1,D-2

Series-A

Station Employees’

208 5°¢3) 2BS$DE0S :
S
1.

3.

4,
538 HAS JoTowDd

46. Match the following :
Organisations  Persons
A. Telangana 1.P.V. Giri
Prantiya Samithié
B. Telangana 2. Kolishetti
Non-Gaietted | Ran;ladas
Officers Union '
C. Telangana 3. T. Purushotham

Rakshanala Samithi Rao
D. Kothagudem 4. K.R. Amose

Soen |

-t

2.2. Hd

593G

TSI
63, HZoerSSo

3.l o370

Choose the correct pairs/answer :
HOTS 2368009/23572000 DODE ToHoB :

47.

GET IT ON
Google Play

Which one of the following statements is
NOT correct ?

(1) The then President, APJ Abdul
Kalam addressed the joint houses of
the Parliament and repeated the
national common minimum
programme formulation on
Telangana issue.

(2) On February 5, 2010, the
Government of India constituted the
Srikrishna Committee to examine the

~ issue of Dbifurcation of Andhra
Pradesh.

(3) A group of ministers (GOM) was
constituted on October 8", 2013 to
prepare legislation to give effect to
the cabinet decision at 3 October,
2013.

(4) On December 12, 2013, the then
President, Pranab Mukherjee refered
the Andhra Pradesh Reorganisation
Bl to - the Andhra Pradesh -
Legisiature.

808 T3S’ O DO DB T ?

(1) ©5)¢3 O AIB BN DB, WS
Zerd Doty adoh P
Hocind JIrFTRN) a6F00
ATEFRSr ‘AR (DSBS S
DN (BTN © 2yrfiomr SO
BNOBHOS’ BOOMPED T Y60 WOT)
(025065 50 THRAODR eoar™) .

(2) D236 5, 2010 T oS (D S0
BO|SIDHTT D23 SOFR),
2985505080 THEFDE BEgn EedD
RCHOD0S.

(3) ©F28 3, 20138 oS ORI
STFOOVBS BOOMTE €3 ©0eN
BT SNTONT BOYS0 AT°YENT

LD 8D DINBY & (2BLD0) 9§28
8, 2013 Jor)tn TOHEo zOAH.

(4) &08 12, 20138 @) T laoHes,
D95 S GoBHBE  HSE
SiSRESe  Ded  HBROST
- BO(JINBT TS HFB0 Hodor.
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48. Match the following : - © |80. Examine the following statements about
Book Writer the ‘Kaloji Narayan Rao Award'
A. Gidi Telangana 1. D, Satyanarayana A. It was established by the Telangana
B. Telangana March 2. K. Dileep government.
C. Jalasadana 3. Cartoonist B. The award carries a cash prize of
Samaramu Shekar 2 10,01,116 and a citation.
. Gi;z?:;t:;:g % ggt\ﬁ:\ader 'C. The Kaloji Narayan Rao Award for
G ' 2017 was conferred to R. Seetharam.
obles Propaganda
808 7639 BSHEBS0A - D. The award for the year 2016 was
H5%o B o0nes presented to Ammangi Venugopal.
A. 'AO Boomre’ 1. & Jeso°ahHen S oA 0 D’ K H020HOD
B. ‘Bvorm &by 2. 3 A5 - S0BAS8mN 6900508
C. ZoRNGINESY 3. 54rd 326 A & oo Boors (Do
D. ' 828 e 4. DY 8Hoss | SFO 08,
DTerod DSy ' B. & oo 808 HEI,80 (RDIS)S
(Do’ D BT 1001116 S8y
Choose the correct pairs/answer - WOABI K, _
PN ToToRAIN BSOD/BTWN OB C. 2017 30XS830°08 goes®ss PN MooV
[OHod: . L 0% @& 8. Serorod RS0
(1)A-3,B-2, C-1,D4(2) A2, B4, C-3, D-1 DA, '
(3)A-3, B4, C-1, D-2(4) A4, B-1, C-3. D-2 D. 2016 " Jos830708 o @028
49. Arrange the following incidents on the SeRAISE (Darso S,
basis of their occurance in a chronological Choose the correct answer -
order : ’ . v, D, :
A. The death of Y.S. Rajashekar Reddy, O B2 DS BFokod :
Chief Minister of Andhra Pradesh in | . (1) A B&C only (2) B&D only
helicopter crash. _ (3) A& Conly (4) A,B,C&D
B. Srikrishna Committee Submitted its
& {?Wghg’nggél;gfgg:“g‘;o went.on |71 Examine the following statements -
hunger strike demanding the creation A.~ The cinema censorship in Hyderabad
of Telangana state. : was onglna.ted in _the. year 1924:
D. K. Roshaiah resigned as the Chief B.- Chatrapathi Shivaji visited
Minister of Andhra Pradesh. .Hyderabad in 1687,
806 dosntadery wd 2BONS 5 25¢3 C. The duo Akkanna-Madanna were
DA 50" 908108 : - killed by the army of Aurangazeb on
A OB WArKos’ B.oB.ovains March 25, 1676:
8@, oSN35 A0W00|E, 505690, §08 J38erd HBO0Sod -
B. 355 $20ed &5 68 (2om 508 A TE0EE o1P0S BAST Toamyb
@9065553305-\, o 1924S" >80S0 d.
€. Svome oy domyen £68 | B 3808 208 oS 16876
S, D03 wB T AoFE AE % &80z,
T .

C. ZTdohBan S50 OE8) -3

D, ;”%%?ég?igﬁgfo@ DE8 2O 818 25, 16768 reds F206,
Choose the correct order/answer : 9“0059 the correct agswer .
RO ED0XY 220D JODETAoB: [ OO 220 JodE Zbod -
(1) A,C,D,B (2) C,A B, D (1) Aonly (2). Canly
(3) AB,C,D (4) A C,B,D (3) A&B only (4) B&C only
18130 15 Series-A
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52. Examine the following pairs :
A. Adilabad Dokra - G.l. tagin 2017-
metal craft 18
B. Limbadri Gutta, - Laxmi Narasimha
Nizamabad Swamy temple
district
C. Pochampally - G.l tag in 2004-
tkkat Sarees 05
D. Warangal — Sheet metal art
Durries
B0 23650 HORO0B0A :
A @&errd Bl - 2017-185
S (5% . 2% ¢rgh
B. Doarl® N, - 082S0
Q2TATFE B¢ 5 D&
C. 53050 ¥¥yS - 2004-0565°
D& 225 exsh
D. S%0HS Qden - e oS
-0
Choose the correct pairs/answer :
DOTR BSOR/22T°20R DONE TANOL :
(1) A& Conly (2) B&Donly
(3) B,C&Donly (4) A, B&Conly
53. Maich the following :
Waterfalls District
A. Bogatha Waterfalls 1. Nagarkurnool
B. Gayatri Waterfalls 2. Jayashankar
Bhupalpally
C. Mallela Theertham 3. Bhadradri
Waterfalls Kothagudem
D. Manuguru Waterfalls 4.  Adilabad
‘8. Khammam
808 °¢3Q) 2350808
zoJrdo 2
A. SHO soxso 1. oib 58S
B. modied 2. 203038
BOJS0 SrTrodd) .
C. MBoafo 3. IO
2050 SSirEo
D. H&ird 4, @OHETFD
200 -
5. D0
Choose the correct pairs/answer :
DO 2250:80/2355°220 DODE TALOE
(1) A-2,B-1,C-4,D-5 (2)A-2,B-4,C1,D-3
(3) A-5,B4,C-2,D-1 (4)A4,B-3,C-1,D-2
Series-A 16

55.

56.

57.

GET IT ON
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Which of the historians who described
Hyderabad as a paradise on the earth ?
(1) Saddig Naqvi (2) Nagueem Sykhan
(3) Sherwani  (4) Amir Khusroo
808 B IFGSTE SKOWR)) TR
DHLB0" @) OB THTHL ?

(1) FOLIPs  (2) D3 IS
(3) o5 (4) @b |

During the period of which of the following
Satavahana kings, Sanskrit replaced
Prakrut as royal language ?

(1) Gautami Putra Satakarni

(2) Yagnasri Satakarni

(3) Kuntala Satakarni

(4) Satakarni- Il

BOO O TIPS T SO0 TrEzrEA
80 0N DONLYH0 SO ?

(1) TSNS TS8R

(2) g3 TSER

(3) Bvoeder THEQ

(4) 25 T85Q

Which of the following refers to principles,
values and beliefs-that-indicate the right
and wrong behaviour ?

(1) Ethics

(2) Ethical dilemma

(3) “Innovation

(4) Open communication

QF@EeD, ~AaDATeY, JeVHen SHdAW
Aa0STED DOPS D8I B )
(DB QOB A DeN0LFED ?

(1) M=o .

(2) 328 Q3D

(3) S3%wS

- (4) 2280 QTR

In the initial years, Kolanupaka was
famous for which religious centre ?

(1) -Shaiva (2) Jaina

(3) Vaishnava (4) Buddha
SOTES FToHds o H$ Jodorr
(DG ToOE ?
(1) 35 (2
(3) BRI (
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59.
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Match the following : .
World Day . Date & Month

A. World EarthDay =~ 1. 18" June

B. World Health Day 2. 17" June

C. World Sustainable 3. 22”°Aeril
Gastronomy Day -

D. World Day to Combat 4. 7" April
Desertificationand 5. 5" June

Drought
808 €30 aeté.nézﬁoc?s
Do BS'S 50  BE SH8okn Ve

A. 1DDOTS 1. 18 ™S
/A8 S0

B. (D00 &888s 2. 17 257
[AINT) _

C. (DIOW RS - 3. 22 DS
(NS0SB) RS 2
LS &S0

D. 8882, 4. 7 ADS

{oVVINY

RTINS INOTANN

00T &S0

5. 587

Choose the correct pairs/answer :
QBB 2268>:80/237°2200 DONE BADHOK :
(1) A-3,B-1,C-5,D-4 (2) A-5, B-1,C4,D-2
(3) A4,B-5 C-1,D-3 (4) A-3,B-4,C-1,D-2

Examine the following statements :

A. The Annual ‘Women Economic
Forum (WEF) 2018 Awards’ were
held in March 2018.

B. During the event, the ‘Excellent
Women of Excellence’ award was
presented to Indra Nooyi.

Choose the correct answer :

1) Both A and B are correct.

2) Both A and B are incorrect.

3) Only A is correct.

4) Only B is correct.

806 DB HBIDOOB |

A Q¥ ‘e« $%0o 2018’
eaden S8, 201885 =8mraw.

B. & Joddyor 'eodn)dDd LHdrer
BFad (QE)BoS DS EIBDY)
&P D RO Srand eodE7d.

QB 22D DCHE TADOA

(1) A 8akw B Bodr SBSR.

(2) A 5805 B Bods S0 5.

(3) ASFSTHIDIB.

(4) B SrSH 3336

17

60.
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‘Rythu Bandhu' scheme is implemented by
the government of Telangana. Examine the
following statements about it :

A. The Chief Minister of Telangana state
launched the ‘Rythu Bandhu’ scheme
in Huzurabad village of Karimnagar
district on June 2, 2018.

. B. A grant of ¥ 8,000/- per acre per

annum @ ¥ 4,000/- per crop is being
* given to all the Telangana farmers.

C. More than 38 lakh farmers in

Telangana would be benefitted by the

.scheme.

D. % 12,000 crore budget was allocated
for the scheme during 2018-19.

- Boorre (22D 50 Qéa 200" VPSR,

BHNIBHNS)S. AIE  Ho0HODS

808 DSEEOS HOFOOB0A |
A Soomrsn Tla Suold anS 2,

2018 ‘B 206’ HHR), $60SKE
2D DEoerd  (rdod’
|>rSoDorr.

B. ©0&& S0 Behodh Jokdo &
T 4000 SRS JBTV8 HoSS o8
T 8,000 15°D)) @90RBN0S.

C. S8womns 38 oo 2 Jden
- % D0 SV ) FoLs .

D. 2018-19 0358 078 el & Hd¥o
Fo0 & 12000 SO 23S
- BEronowrd.

Choose the correct answer :

DTN BTN NODE TOHOA :
(1) A&Bonly (2) B&Donly
(3) C&Donly (4) A, B&Donly
' Series-A
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Series-A

Society for Telangana State Network

- (SoFTNET) is an initiative from the

governn‘ient of Telangana to provide
quality education and training facilities.
Which department of the government

implements it ?
4}
(2)

Department of Technical Education

Department of Higher Education

(3) Telangana State Council of Higher

Education (TSCHE)
(4)

Department of

Technology, Electronics and

Communications
S8 28 Boorm @S ISHI8,

RDBE)S DErd i DSs DB e

QAT ArLD 3D oderwE sSoors

DS 0 IOFDY0B. A Serors
S50 D A0S %) ®Joe
DEROE ?

(1)
(2)

rOBRE oy TR
GO TS TR
(3) Boomrn O'la ) o HOKBO

(4) o3BE D0, IOIFITY SHOAKW

QArES (E30NTAS)) T

Information |

62.

GET IT ON
Google Play

Examine the following statements about
T-IDEA Incentive Scheme, 2014 :

A. It is called as Telangana State
and

Advancement

Industrial Development

Entrepreneur
Incentive Scheme, 2014.

B. The scheme was introduced in 2014
by issuing G.O.Ms.No. 28, dated :
29-11-2014.

Choose the correct answer :

(1) Both A and B are correct.

(2) Both A and B are incorrect.

(3) OnlyAis corre.c.t.

(4) Only B is cormrect.

S-0805r (3-087) |TFEY)TE J&¥o,
2014 H0od  80h  JdBOd
H02D0W0d :

A. A Beoors o8 B FDE
DS DO  SgSFgrndoe
PDIH@ (6'@&9Qi () H&Eo,
2014 ©Q DT,

B. &S5028 29, 201405 2.2,.000%. 0. 28
O (DS GBI 28 T &
135 2014’ |>Eodord.

DHOTS 2200 JoDE Fehod :

(1) A B0 B Bodr S8

(2) A B0k B Bodr OGS 9.
(3) ASTSDH SOTIB.

(4) B SFSH I0TIA.
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63. Which irrigation schéme was renamed |65. Examine the following statements about

after R. Vidyasagar Rao by the T-Hub :
government of Telangana in Aprii 2018 ? _
(1) Bheema Lift Irrigation project A. T-Hub is a unique public-private

(2) Devadula Lift Irrigation scheme

(3) Dindi Lift Irrigation scheme pAARg:

(4) Kanthanapally Lift Irrigation project . B. It works with an extensive network of
ADS 20188 Berores (H20S 50 T o0 O
588 IS5y B SR8 6B, DorgEE oo partners to help entrepreneurs
DS DEDA0H ? ' ' launch and scale innovative
(1) D> QS0 H%0 P companies.
(2) Brdho B8PS Hso ' '
(3) B0S VTS HS¥o C. It is located at Hyderabad
(4) 503859 VNS HS¥o International  Convention Centre
64. Match the following - (HICC), Kondapur, Hyderabad.
' Institution Ofﬁcfgr’s_Name B85S (@B Sand)  H800D  fod
A. Director General 1. Ajit Rangnekar
Innovation Circle :
B. Director of Indian 2. Dr. G. Sundar ¢3-3725 DT° e TAH2AE0H.
Institute of Millets :
Research (IIMR) ' | B. SS%e)8 K> 30RO
C. D_irec'tor, BITS 3. Dr. Vrl_as Tonopi (B B0DOBETIE SO T¢38 \AAOR
Pilani, Hyderabad :
808 739 BHAESOA - _ RIITVE  @IIEDS QaTFAFR)
HoP ©0ds8 H% SESFTOHOH TFANLHLH IYYSDoS
A. 88) ©0& I oS SES88y  riirsSzm-o8  Hd
) IAS 56,6 S0 &5 - :
8D ST erE HOaD.
(@80TS)% S v
55 256 C. ST r&ESD ?ga-ogrt')é‘ Ked
B. 208008 2. @8 00s6 TETEE  B00B)ASS T89S
AdPearseS e 06 (00D S5 oD
DBy B8 : a—_—
(DR0BE) BELE | TR0
C. DS Dne3dR) 3. oo Choose the correct answer -
DT TPSTerSE AR
ZoE0 | RO 220D D0DHE Tohod :
Choose the correct pairs/answer
QO BSOR/BT 208 JODE TAHoA : (1) A&Bonly  (2) Bonly
(1) A-3,B-1,C-2 (2) A1,B3,C2
(3) A-2,B-3,C-1 (4) A-1,B-2,C-3 (3) B&Conly ‘(4) A & C only

18130 19 Series-A
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66. Examine the following pairs :
A. T-HART : Telangana State Hardware
Research and Technology

B. T-PRIDE : Telangana State Programme
for Rapid Incubation of Dalit

Entrepreneurs ¥

C. T-SWIFT : Telangana State-Wide
Investment Facilitation

D. TS-lpass : Telangana State Industrial
Project Approval and Self-

certification System

808 B3R H8ID0BoA :
A B0 (B-TSebel) : Beoomrs
o7 F*RRE 86 @o& By ered
B. &6 (S-desbodm) DS9S
TOFTWESS TDE  0505BAS
§'d0 8wome oy 1OTo.
C. &5 @3- smaDes) : BOOTED
Ol 780 20epd SOarasHo.
D. &S00  (300-0DNI0)
SO0TR Ol TS |DEPD
3050 DOTTN R J0%0-E5JESED 035359,
Choose the correct pairs/answer :
QOPN BSOA/2363°200 J0DE TAHOA *
(1) AAB&Conly (2) B, C&Donly
(3) C&Donly (4) A, B &D only
67. Examine the following statesments on T-Fiber :
; - A. The government of Telangana initiated
5 to establish infrastructure to enable
A affordable, high speed broad brand
" connectivity and digital services to all
%le) districts of the state.
state will be investing nea%y
¥ 10,000 crore into the project in 2018-19:
Choose the correct answer :

1
2

B.

Both A and B are correct,
.Both A and B are incorrect.
3) Only Ais correct.

4) Only B is correct. S

" €3 2038 1000 §06 DeSEexd HORO oS 0B :
' A o108 @) 31 sreH
QAOODS, @O Jfo DS 1205
ol BN HBAH A=
VIOD (FE0DOSERE @555
ST (95707 T OSTE) Sed 330
SOOI |0250eb $0 &S0 00D,

B. 2018-195" &y & 10000 &
EPAAD 1Dt & (DEHS
008,

QOIS 220 DODE ToHod :

(1) A B8c5w B Bodsr HBTDHS.

(2) A O B Bodkr SO 5%,

(3) ASMSD HOTIA.

(4) B Sre83h HOTSA.
Series-A 20
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68. . To reduce infant mortality rate (IMR) and

69.

maternal mortality rate (MMR) in
Telangana and to promote institutional
deliveries, the Telangana government
launched a scheme called : ’
(1) Aarogya Lakshmi

(2) Aarogya Sri

(3) KCR Kit

(4) TS Health Profile Scheme

D NOTO BN  (DINBB), HITN
NBET BEX (D0.00.68)0% BOoMeS
SROBTE DB S53DE S (DHT e
IF*SEITONETAE Soorsn (D50
ErO0D0DS HAE0 B3 ?

(1) &8 o8,

(2) w83

(3) 32.«688

(4) BN.s88; DS S

Examine the following statements :

A. ‘Aasara Pension Scheme' was
effective from October 1, 2014.

B. The state government of Telangana
fixed the pension amount of  1,000/-
per month for disabled pensioners
along with widows, single women and
old aged pensioners.

C. Disabled persons having a minimum
of 60% disability under SADAREM

- assessment are eligible for getting
pension under the scheme.

808 DB HBRODGBI0G :

A ‘s8I0 DOBS D0 S efab 1,
2014 0 & @0enDHEWT) .

‘B, Doedshen, 2,088 LHirsen HBAD

STE $98 DISE SrBO Derod
PG TR0 ko & 1,000 ")
PoS& BYoWEE Boors oo R
(0805 50 AQANODOA.

C. SADAREM B o 155780 §HH0 60%
SO0 EOAS DEerohHodh & Hd¥o
808 DOBS FoRFVE wls &od.

Choose the correct answer :

QO 2720 DODE TAHod

(1) A&Bonly  (2) B&Conly

(3) AB&C (4) A only
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Examine the following statements ;

A

The six-hour six-minutes battle
between Kevin Anderson and John
Isner became Wimbledon's longest
semifinal tennis match.

Kevin Anderson was defeated by
John Isner in that match.

- The five-hour fifteen minutes battle

between Rafael Nadal and Novac
Djokovic became Wimbledon's
second-longest semifinal  tennis
match.

Djokovic, a Serbian, defeated Nadal, .
a Spanish by 6-4, 3-6, 7-6 (11-9), 3-6,
10-8 in the match.

808 JI3Be& H82O0NoA

A.

B B0SE)S HOAD S 2dYBe
SNES 6 HOLO 6 Aarer e 28RS
IPES S0SS  wdidE soo
BHS)  JowYS DADIS
DALV 35S ®anod.

& SrSS 8IS e0885)8% 28
20)6 Lo,

ES THS Hday Sof S8

DRs 5 fode 15 Jare SregdS
SOSS Tods esidE  se0

SR oS HDSS |

IR 7515 AVOR.

TR VOND TR BYADS
@O EFIE & SreS5S” 6-4, 3-6,
7-6(11-9), 3-6, 10-88 4,80 .

Choose the correct answer :

DOTS 23720 JODE ToHod

(1) AB,C&D (2) A, B&Donly
(3) A.C&Donly (4) B, C& D only

21

71.

GET IT ON
‘ Google Play \

Examine the following statements about

NCPCR of India :

A. ‘Commissions for Protection of Child

- Rights Act’ (CPCRA) was enacted in
December, 2005.

B. Under this Act of 2005, 'National
Commission for Protection of Child
Rights’ (NCPCR) was set up in
March, 2007.

C. The Commission's objective is to
protect, promote and defend child
rights in India.

D. In June, 2018, it drafted fee
regulations to put in pléce uniform fee
framework to check frequent and
arbitrary increases in school fees by
unaided private schools.

DR.AR.D.D.eE HO0D 808 DIBZOD

8300t 0A

A oo JFEye Sodgo €50 EAS
940" (CPCRA) AR08 200565° 50
BB,

B. & 2005 %o 80& S8y 2007
WO FHO S0 FOo rachH

SAST (SDesE)  dovyew
Sohadod.

C. ardsBdosS oo  SrALO&
380580, (830t  SHBSL
PSS §0 & EMAS ©F 50.

D. ®SdonB& DI ) ¥ SHarerad
ST, AEDFor  esrEIrson
OO AN DTAHEFDE &
WIS 28 20185 D85y
sEEerTo S0 (DS S5)
QO )0 TVODHErD8 1T°D D230SSer
ErsrofHoRod.

Choose the correct answer :

QOTS 220D JoDE ThHod :

(1) AB&Conly (2) B,C&Donly

(3) A&D only (4) A,B,C&D

® Serles-A
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Series-A

Examine the following statements :

A. The Rajya Sabha of India entered into
a Memorandum of Understandin
(MoU) with the Senate ugper house
of Rwanda on July 9, 2013. .

B. For the second time in 76 years since
the Rs:%yg Sabha came into being, it
entered into a MoU with a foreign
counterpart. .

C. The MoU seeks to promote inter--
parliamentary dialogue.

808 D3SOD HOIODOB0A :

A 3333 TS =8 9, 2018 S
HToE BE) VIS (DS HI)S
&8 'O ad)od0 &
Do, o

DB TOTHYE IS HS endmi
200, Do =E
DORSD. . '
OS5 - FODoLd JozFasd
'SIroHETIE & wSrira
20 )OB0 SHWBFHENHS0A.

Choose the correct answer :

QO 27720 DODE TAHOB :

1; & B only 2) B & C only

3) A&Conly 4) ALB&C "
Examine the following statements about
AlIMS :

A. The Govemment of India sanctioned
one ‘All Iindia Institute of Medical
Sciences' (AlIMS) for Telangana.

B. The Union Govemment will release
funds for the establishment of AIIMS in
Telangana from the Pradhan Mantri
Swasthya Suraksha Yojana (PMSSY).

Choose the correct answer :

1) Both A & B are correct.

2) Both A & B are incorrect.

3) Only A is correct.

4) Only B is correct.

DOV (QDVDVIOIV) D 808 DI3Benere%d

DBIO0B0A ;

A Boorm §00 288 D200 aseS
ROAAT ASPETES  &s8D DAES
VT IR (0N ) 00237 THOA.

B. S8worand’ dond)y Foss ol
(DZDS 30 DS OB TS ST
B’ (DAODVIVG) Do d
QGO B TBYROH.

QOIS 220D ODE TOHoA !

(1) A8k B Bods HOSD.

(2) A0 BBOGT SOTSD 59,

(3) ASTSTD OO,

iy -

(4) BIMSD S0 b.
22

74,

73,

GET IT ON
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Examine the following statements :

A. On 12 July, 2018, Hima Das of India
became the first Indian woman to win
a gold at the International Association
of Athletics Federation (JAAF) World
Under-20 Athletics Championships.

B. She won the gold medal in the
women’'s 200 m final race held in
Ireland.

C. 18 years old Hima Das belongs to
Nagaon district of Assam state.

808 D38 HOBODOB0B -

A 28 12, 20188 R0LBIASS
OFIDAS @D ©BTe35) ABAS
(Pdedad) T8 @0¢B5-20 1HDOS
@FeE) ToHALSADS  aord
APTR)  OoD Hr oh
GG rdBch SoSren
RHTONOA.

B. 20088 2808 Hrde 200 Heod

IS TS S R 2ord

DR HentHiod.

18 Q0SS YT SADK,) e e &5 -

QR YO TY o) 1T (Nagaon) 2 R,

Choose the correct answer :

OO B2 JODE Tahod :

{1} & Bonl 52; A & Conly

3) B &C only 4) A,B&C

Examine the following statements on

Pradhan Mantri Fasal Bima Yojana

gPMFBY):

. The scheme was launched by the
Prime Minister of India on” 18"
February, 2016.

B. It aims at supporting  sustainable
production in agriculture sector. -

C.

_ ... C.._ Allfarmers including sharecroppers and

tenant farmers for alf crops in all states
of India are eligible for coverage.

DS DO DS DSr Tz’ (PMFBY)

BN 0B DI3Beaers HBRDoBt0d :

A 2708 (DS HOLE D2SB 18, 2016
T & DY) (rdodoTre.

B. I53rah  SofosS ISP,

QBTN o 1D |9 BroserDs

8. 350 BP0,

TESTIOSD  ®d) oareods

FEFTOOR, FaTHos Senddod

@O0 BHORN, @) Jobedy &

5580 30908,

Choose the correct answer :

OB BT DONE Thod :

) sacony (3 ABEEY

e,
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SECTION - 11
SECRETARIAL ABILITIES 0‘3\/ ;
> BAL
@9" © |81, ify3=1732 then\TB2-3VB-T5=2 /05
(;?( - \3=1.732, ®ond+[19 —%\/4_3—\]7_5=? |
N
(1) 3.464 (2) 1.732 (3)6.928 (4)5.196 ;7/9&
N
82. Ina class, there are 90 students and their :/B ;
average marks in the annual examination ™
- is 50. if the average marks of passed . W’V’
149 137 students is 70 and average marks of 7™ N
M 282 (2) 282 failed students is 40, then find out the /s,r/
140 143 number of students failed in the V724
) 282 4) 782 " examination.
- 2.8 SSABS &) 90 6@0& DS,
DoSyoroesy  DHBE a0 e
71. n%=%—§, what is the value of %? SrSpen 50, &BBoonS FO Hikew
=k & et SrSpen 70 SO eAPBS 8
=3 geon8 — — ? HEen Srdyen 40 wand, ©HRYHBS
2 ' 9 o0 DOP§ DO ?
(1)1 (2) (1) 48 (2) 55  (3)50 (4) 60
(3) 28 4) 4 : :
; 83. A cricketer scored some runs in his
78. f3x+7y=78and x+3y=32,then2x+y=7 continuous 15 innings. He scored 100
3x+7y=78, x + 3y = 32, 0@ runs in his 16" innings and increases his
2x+y=7? average by 2 runs. What was the average
(1) 12 (zf 16 of his runs at the end of 16™ innings ?
(3) 19 @) 18 . 2.8 (8885 eseorrdh 15 S0 1ok yos
Q) ddhen TAd. 165 @ ofysS,
s 100 SE%ren TANB S8 e DAL 2
79. ¥ 3,600 is divided among A, B and C. If
A's share is 1/2 of B's share and B's share DM DO, 1655 8 0R) Sdvere
is 2/3 of C' share, then what is the share S Hifew HWbeN I ?
of B? (1) 86  (2).68 (3)70 (4) 72
¥ 3,600 A, B, C &% Hochir B § SD3S (g4, In a class, % students are girls and rest
FBS” 1128 Sosh A &, C FersS’ 2/33 . ’ s
E‘-;c;é; g}g\: S, B J‘@U; aoiéz?oo are boys. If 5 of the giris and  of the boys
4 .
' are absent, what part of the total students
(3) 1,800 (4) 22,400 s present 2
5 g
§ SBERS T L0
80. |f%+%+%-6,ﬁenwhat is the value of x 7 a, 3 T
111 SNO8E renty. wOES § 06,
2*t5t ;—6@0})3}:—9 5
1 eSS 2 H0H  IFud  sEFS,
1 me— . —-—-
() 713 @ 117 InS0S" D) S0k 0B HFBSArIL ?
1 wis 20, foan BL o AT 28 .19
(3) 191 4 111 Me @5 Gz @3
18130 23 Series-A
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83. The salary of an employee of a company |89. In a certain time, a sum becomes 3 times
increases every month by 5%. If his salary at the rate-of 10% per annum (simple
in March was ¥ 7,500, then what would be interest).. At what rate per annum (simple
his approximate salary in month of May of - "interest), the same sum becomes 6 times
the same year 7 in same duration ?
.28 &SR [wE) 2BSo 1HBTer 5% Fos JIndo, Fodsoo SHasd 10%
BHH0E. S8 FeresS eoesd Beb0 &, FOT 2rHSAS SrchHdeY wansod.
Qo\ 7.500 eond®, &8 Hos8350 B o o8 BB, 8 Ferdd Jod rEIG
w~ OB A0 doss ? Bend 6 BEY ©HS08 ?
/~ (1) 8,269 (2) T 8,224 (1) 25% 2y 22% *’\‘*"}]
E—* (3) 28,218 (4) ¥8,220 (3) 20% (4) 18% %
86. Ramaiah purchased an item for.3 10,000-
| “and sold it at the gain of 40%. From that 9. ﬁéfé‘;f;&%’:ﬁ: E"?sﬂegogt ;‘";py‘;”a"rs
amount, e purdhasied anotior ftem and hnd 7 1,200 in 3 years. Find the rate of
' sold it at the loss of 25%. What is_his b # G b
overall gainfloss ? T _ /gn
e e i V¥ TS Gossios 5 1.200 wond S&Ben
/‘ ™ (3) Neither gain nor loss :‘50 % e
/ (4) Gain'of 600 i e ) b
L Soctes 2.8 S5 6 10,000 & € g ok o)
'iﬁ' 40% 258 3T, 8 SIS dan)S (3) 17% (4) 18%
, ©SD HOE SQPHD §D 25% SIS 191, The ratio of incomes of Venkanna and
5. OB, IS0 NS  wSAE X Saidulu is 7 : 5 and ratio of their
E‘ rE0/SR0 ? .  expenditures'is 372 Jfeach person saves
: (1) & 500 Sxo T 3,000, then find the sum of their
(2) & 500 exr2so incomies. 53
(3) ergSdar dasdur B I0Xd), DR eaa‘cﬁrc;) A T7:5
(4) & 600 erzso SO0 78 PO AA)E 3 : 2 OV,
87. A person has 1,000 kg of sugar. part of Eel’] PG00 5935 fben oot
b TOR0 sTraire IS0 Jot ? -
which he sells at 8% profit and the rest at 1) 7 34.000 2) 32,000
- 18% profit. He gains 14% on the whole. (1) : ( }‘,,‘F
; The quantity sold at 18% profit is (3) % 36,000 (4y7% 30,000
4 28 558 1,000 850 HoirdS Fo [92. Ifthe price of an item is increased by 30%
" 2R 8% 28, NS ) 18% and then allows two successive discounts
28 @ C. Do DS S 14% of 10% and 10%, in the last the price of
280 SR, 18% erzrds ®d Hodod anitemis ..........
JOeh ? ; (1) reduced by 10%
(1) 500 kg 400 kg (2) increased by 10%
(3) 600 kg (4) 700 kg (3) reduced by 5.3%
_ - . (4) increased by 5.3%
| 88. Ifincome of Sneha is 30% mere than that 2é 30 Togy A6 30% Do),
b of Abhi, then income of Abhi is how much BOKRD 2,500 SSdared HTEST 10% .
per cent less than that of Sneha ? 00 10% Tromden 2D I0L00S
AR5 Sy S8Erao @) esrroo o DB 8 S S8 T '
®i Vo) QG .onnnnn
30% DEEI0NB, @) esrdho WY (1) 10% S0
1 errcs0 $08 Jos T0 S80S ? .
_ (2) 10% S0
(1) 247/13% (2) 245/13 % o
& (3) 31113%  (4) 300113 % (3) 5.3% Sipood
Y (4) 5.3% S0
~ Series-A 24 18130
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- (3) All cats are dogs.

18130

If ‘air’ is called ‘green’, ‘green’ is called
'sed’, "Sea’ is called ‘red,, ‘red’ is .called
‘blue’, ‘blue’ is called ‘water’ and ‘water’ is
called ‘brown’, then what is.the colour of

blood 7 £V
(1) Red (2) Air
(3) Blue (4) Brown

O SFIVIT, BNV Ddn(dorr,
QAVTR) AT, DD DedorT,
Q) VBT, DB A0 ot DO,

&80 & 80 &otnod ?
(1) %D (2) ™d
(3) QO (4) B0 Bod

Read the following information to answer
the question.

A, B, C, D, E and F are sitting in a row-

facing north. E and F are in the centre, A
and B are at the ends. C is sitting on the
left of A. Who is sitting three places on the
rightof D ?

808 BDYD DIrToR) BOJHFE

RATTN0 T°OL0A. :

A, B,C,D,E, F ex 2.8 3% &350 B
ArQr T % E Hédw F e
$8556° @) 5. A SHBAI B en DISS
&Y. A § 8D D8R C S8 ymr .
D 8 H& I35 r%sd Feos 5%
B8y & ? . : :
(1) B (2) C (3)A (4D

Read the following two statements

carefully and select the right conclusion,

which foltews the statements :
Statements : All men are dogs.

Conclusions : -
(1) Al men are cats.
(2) All cats are men.

(4) All dogs are men.

808 AVI0 BOod (DSBS 2

DAY, HBS BT~ 8808 HOOHOE.

(DS S0 1 HBVeN O Sy,
20 Su8e0 deven.

STTven

(1) IBDLOAE deven

(2) @) dewer H&dnew

(3) ®Q) evexr ¥ en

(4) @) Ho¥jer HHen

25

|96.

97.

98.
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Read -the following two statements
carefully and select the right conclusion,
which follows the statements :

Statements : All cooks are employees.
Some employees are workeif

Conclusions : _

(1) No worker is an employee. J{

(2) All cooks are workers.t i

(3) All employees are cooks.™{

(4) Some employees are cooks” = _

808 20N Bok (DB S S 2HSm

SO HBS ST HB0s0d.

(DSBS Sen :

SOLTFOSEr &EsiHen.

§0$:008 EHE 5D DATE.

ac-;a'm H

(1) DGy &835h s°e.

(2) SoLTFOSEr HAFE.

(3) BS5HeO0RET S0

(4) ToB008 GEben SOLT 0.

¢

" fLIGHT is coded as GILTH, find the code
for RAINY. .
LIGHT Q GILTH = €& S, RAINY § 56
dabe3 ? _
(1) JARYN (2) ARINY
(3) NAIRY (4) RINAY
If % is replaced with +, + is replaced with

x, - is replaced with +, + is replaced with
- thend0+20-5x10+5="?

x § 220N+, +8ahenrx D, - 8
2™ + Q, * § T ~ D IrOR,
40+20-5%10+5="7

(1) 170 (2) 165

%3) 150 (4) 175

If TOUR is written as 1234, CLEAR is
written as 56784 and SPARE is written as
90847, find the code for CARE.

TOUR Q 1234 =, CLEAR J 56784
SPARE 90847 r» o CARE Q oer
oS ?

(1) 1247
(3) 5247

(2) 4847
(4) 5847
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100. There are 100 studenmad to a [402.

" class. Some students can speak only
English, some can speak only Hindi and
some can speak only Telugu. 12 students
can speak both Telugu and Hindi, 15
students can speak both Hindi and
English and 18 students can speéak both
English and Telugu. If the number of -
students who can speak Englisfi is 30 and-
Hindi is 40 and Telugu is 30 and 5
students can speak all the three ;
& languages, then how many students can
G speak only Hindi ? -
2% SSXBS’ 100 H0d D sen W30
o, 85 FodSod =ohn
_ (/J ISP, FTosNod _&rod  Srisd,
ToSN0H B IS ITETK.
12 %08 dorien Sewdd, wroden

\ Bodr; 15 08  dorshen rod,

z000en Bodr; 18 Hod Jorsthen
{\ 2009, Benhen Bodr Srérderdy, 30
SH0d dorsden 200D, 40 K08 08,

, 30 0B Senth SHOAD 5 HOG M
AL AEFAB Srod JridR ST
AP HOPS DO ? 104.
(1) 10 : (2) 18
(3) 12 (4) 15

103.

101. in arow, Anil is in the 11" position from
the left and Bhushan is in the 10" position
from the right. i Anil" and. Bhushan
interchanged their places, then Anil

(\f—’ o~ \becomes 18" from the left. How many |
~ persons are there in the row other than [
(7 Anil and Bhushan 7 .
28 SIS DSDHB 00 11 S o’
: @8, oAF3y D& 10 S FrSoS' Briel
?—@ . 283¢ R, edSen 56’
i(, TTOD IE)E0 IFE 300, ©IS
NN DBNDY OB 18 & T30S &otrd.

(1) 24 (2 p5 . N
(3) 26 @4y 27 ¥
Series-A

_ ﬁ % o _
\r‘\ 6(\@’

(AT 'E’,P*- GET IT ON
St & 4b Google Play

in a Board exam, 53% passed in Biolo
61% passed .in English, BW%
Studies, 24% in Biology & English, 35% in
English & Social Studies o In Biology
& Socia—Studies and 5% 1 none.
Percentage of passes in all the three
subjects is :

2.8 5 HOEST 53% 000 BITR0S
61% H0d- oS, 60% H0d
TOMET|R0S, 24% H0B ES3T(RO
LB =ohRS, 35% Hod =ofin
B roMWET(R0ST  27%  Hod
BSP(RO HOAL  ArodwEF|Nos
SBDOATID. 5% 008 D ITPSHr
GBEOS ENB, Bnto Sorch HOE Sy
GEPBN T8 TS0 DO ?

(1) 6% (2) 5% (3)4% (4)7%

A family consists of a C'O't_.;_pfe, their three
sons and two daughters. The elder of the

two sons who got married was btessed
with ters. How many females

are therg in the family 7

2§ Hoenonos” 2.8 3ot 8 S
SDHED HOAD AP Sredntly, DTS
20% FhHosS Jnded A8 add
ey Gy . @ Senoods Ineo
D000 By )& ? ;
1) 4 (25 (3)7 (4)6

Study the following information carefully
and answer the question :

Ajay, Bhupati, Chandra, David, Eeswar
and Vinay are sitting on a bench facing in
the same direction. Chandra is sitting in
between Ajay and Eeswar..David is not at
the end. Bhupati is sitting immediate right
of Eeswar. David is sitting immediate left
to Ajay. Vinay is not sitting at the rightend.
Who is the immediate right of Vinay ?

(1) *David (2) Ajay (3) Chandra  (4)Eeswar
808 BBV DT o) HST IO
(2350 dSrerdo oroHod ?

o0, Brde, Ko, TG&, &35,
Achen 28 20D IZH  N6A
B8 e ) K. 20230, Bed sBe S0dds Sold
Sr8 ). BE DISS &8 )ESc.
S350 HAIES Lrdea Hrd o) 8.
©z0NE IBDOIEES BIB S8~ %0.

- DI HA DIBS S-S, DD

¥ ©dS, Sraden  sHhod m 1S DABY A3 ErEITI& ?
4 . S DY ¢
/ D0SH0H & SKIES )& ? ' /%é) e alal /@ 2300

(3) ol ) 88350
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105. Observe the following sequence and choose {111. In th:a follnvg?g qlfst!%ﬂngfg:nhﬂﬂgeteﬂﬁm
the correct alternative in place of ‘?': a coram refationship. Fina outl e ngit tlem,
8055 @D L%eﬁ&) B2DOD 7 Q‘&’)oé’f ;:hnlﬁr_nhastl‘uesamerelattonshtpwlththemlrd
?Ofém‘f 1‘0‘-’5?63"6 QIreRd) SSAdOA. 8005 DS DS Inee Bodk Hove
3 ?. /8 21 31 %5 28 AdR DoDOKo &0, Surded
. 9 D& eroed DoOPO &) NSNS ]
M3 @Ff Onf @ O3 SPADOS. -
9 L 17 NOPQ : MLKJ : : HIJK : ? .

106. Observe the following sequence and choose (1) FEDG (2) FEGH (3) EFDC (4)GFED
the correct alternative in place of ‘7' : . o 1
o8 208 GAR 00 7 Frsest |14 QAN U0 o= Tk Wt 1
BRI NOAE eI SR o should be the code for the word VERMI 7 '
QI- Zif .Qx, '2 Vg—-g- ‘g- é' L 28 €6 230° FIRE & QHOK v, MOVE
(1) £.Q @) Q.QEQR @R, IMWK 0% VERMI oF Ho08

107.  Observe the following sequence and choose S RG0S 88 & ?
the correct alternative in place of ‘7’ : (1) WKOZH (2) WKHMO
803 @Y FAD A0D 7 Fdos (3) KWQHZ . (4) WKOHZ
EOASRD KSR SWADOA. 1113, Naveen walked 30 metres towards East, ,
UPH, ?, QDL, OBN, MAP took a right turn and walked 40 metres. Then “
(1) SHJ (2) QHJ (3)QHS  (4)SJH he took a left turn and walked 30 metres. In :

108. In the following question, first two words mﬁr 9d"5 Hon- I8 he . from the starting L}
have a certain relationship. Find out the (1) North-east (2) South-west
right word, which has the same (3) North-west (4) South-east
relationship with the third word : 3HS Srdy 635 30 Hod S0
Spider : Insect : : Crocodile : 7 LHAZHEH BOA 40 oD SBo.

(1) Frog (2) Carnivore SHTS IAHHHEH DA 30 Da® ’
(9) Replile (8] vamme SBITS. DY ©SE HOHTO
205 2.8 DB HOBOBO GOB. HrSS g B W é) S6d
DSOS werotd HoOWBOo &) DB (8) B0 Lol stscose
HErR) EOFS0A 2 _ : 2
' O B 1 RO 1 ? v~ 114 Whicr! number .is in the square, ellipse-
(1) $5) (2) Srors#d - and tﬂgnggs? i £ -
(3) $BD9d0 (4) §3%0 tﬁiﬁé}do i)&é?éaéo . |@DzoSSr

109. Sugar is related to Molasses, in the same SHRASON] - eeseragn U
way as Gasoline is related to ............ i T
(1) Drill (2) Petroleum ! 5
(3) Mine (4) Quarry 2 1oy
DOBTYE DerHRE DooSHoDSV™T . - 3
nﬁgﬂﬁi)g T8 c‘{)oa)oéoﬂogs ? M1 @7 (36 (4)5
Mm@ (2) DO 115. Which of the following is same as Steel,

(3) A (4) 556 Bronze and Brass ? .

110. Observe the following sequence and choose (1) Calcite (2) Zinc

the correct alternative in place of ‘7' : (§3) ?&g'u'& » (35)) Mgtgg“f —_
80 D)S FEAD KON 7' FSoS °§' i s B !
HOBIONS KBS HOWES ENAIOD. H) '
12, 27, 48, 75, 108, ? (1) 588 (2) 208
3,12, 27,48, 75, 108,
(1) 144 (2) 147 (3)153  (4)165 (3) SrrydahHo (4) DTS
18130 ' 27 Series-A

y - __—.__,-ﬁ - -l"


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

e

7

116

117.

118.
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. Select a suitable figure to complete the

figure matrix.
803 AN ) HEOS' GOBIOIS D)

ERS0B ?
YANVAIN

o

I
|
?

= 5
(1) ). (3 (4)

Select a suitable figure to complete the
figure matrix.

805 B0 YA HE0S' BOBISHVS V)

DTS ? /ZP\
D

KR
/O

(3=

A

(4)

(1) (2)

If the circle represents Professors, the
triangle stands for Doctors and-Engineers
are represented by  the rectangle,

Professors who are also Doctors are
represented by...

S0 wTHOd ArdR, (@BHzo-|.

S5O SrOR, HBSHSIH0 RO2RDED
SrDR, SIS BSigo

AEQNO ? '

(Y

(3)C

(A (2B (4)D

119.

120.

121.

122.

28

GET IT ON |
‘ Google Play \ 5

How many triangles are there in the
following figure ?

808 ADYS JLoS D)  (Bheren
GO ?

(1) 28
(3) 36

(2) 32
(4) 40

Which digit will @ppear on the face
opposite to the face with number 4 ?

4 § ©DINPOT BO) SDPOD & @OT
GOLN0GH ?

2 6 2\ -
113 s |3 A 59'
(1) 6 (2) 5 (3) 3 4)2

Choose the alternative which most closely
resembles the mirror-image of the given
image.

808 A0S (1N8Doarld) oo
TSI I ST DBE0230 A ?
QUALITY |

(1) ONVTILK 2)-YTILAUQ
@) YTLIAUOQ (4 YTLIANO

Find out the correct answer figure that
should come next in the sequence of
problem figures.

808 AN (@SS sdharsd oardyd
QBN DB ZFS0.

YOO
@S ®)®)

(1) 2 3 (4)

18130
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128,
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If 22% is divided by 5, what is the
remainder ?

223 2 5 T 2rAR 33 3030 o ?

4,8

130.

131.

134,

s

(11 (2)2 (33 (4)4
Sum of the even numbers below 71 is
71 500 S80S &) DB JFS Dowse
NS DOeh ?
(1) 1260 (2) 1268
(3) 1272 (4) 1246
24224234244 4+ 8=2
(1) 1020 (2) 1024
(3) 1018 (4) 1022
2 -2 .1

520 * 50— 820 =7

33 31
(1) 4200 (2) 4200

13 23
(3) 4200 (4) 4200
If one number is divided by 345, the
remainder is 35. If the same number is
divided by 15, what is the remainder ?
2.8 Do 345 & ;AN 35 Fasw
SDY0H. BT S0 158 AR $3)
380 D0 ?
(1) 13 (2) 5 (312 (4)1
If 70% nf%of a number is 126, what is
that number ?
28 Sows &még% S0eeS’ 70% Dewsd
126 @008, & Do Hoes ?
(1) 400 (2) 460 @ *
(3) 420 {4y 450 VA o
What is the value of
683 x 683 x 683 + 317 x 317 x 317
683 x 683 - 683 x 317 + 317 x 317 ?
683 x 683 x 683 + 317 x 317 x 317
683 x 683 -683 x 317 + 317 x 317
NS DO ?
(1) 6832 (2) 683 x 317
(3) 1000 (4) 13“!7!"2

7‘29

c«/e‘bysﬁ’

132.

133.

135.

GET IT ON
Google Play

If three numbers are in the ratio of 2 :3 :5

and their H.C.F. is 8, what is the sum of

those three numbers ?

2:3:5 308 &3 3 DoWEE . ﬂ“ar 8

VOB, & S JOP{L TSI Jos ? Ly
(1) 64 (2) 88 g,?***
(3) 80 (4) 96 ‘2155 0
W oS
If L.C.M. of two numbers is 180, H.C.F. is yg.i
15 and sum of them is 105, what is the - Sl
difference between those two numbers ? _*‘_ *
Bodh oy E N 180, K.rer 15, e \’
Boh DoWie It 105 wond ¢3
S0ES PO Jods ? 85,
(1) 10 (2) 15 b
(3) 12 (4) 14 \.\7’ ) %
o5, 030)3 G—"(/j’( @ »
0.7570.068) © > (7" 4
(1),139.6 (2) 1386 bﬁ XV o
139.8 (4) 1406 WE\#’ oA
Ve
If$=0.8and 6a+ 11b =79, thena = 6"”";
' ' %l. N

-"08b6m6a+11b 7T9ewond8a=? s\

ws . 9/4* %

1
2 < of a wire is in black eolour and halif of

(1) 4 (2) 5 (3)6

UNthe remaining is in white and rest 6 ¢cm

length is 'blue. What is the length of the
fmre ?

§ éﬁcs‘ S 270 Sen B0, DS

o n)ﬁe,s"f'io Sendy 8B e 6
0.6 2780 HerSoHe &0V, & SR

Jnéo raSoe ?
(1) 24 cm (2) 12cm
(3) 16 cm (4) 20cm -

Sum of the cubes of first 20 natural
numbers is

(4) 44,100
(3) 43,100

(2) 47,200
(4) 45,400
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For the following statement, choose the
substitute word from the alternatives.

A man who has the qualities of woman.
(1) Celibate (2) Epicurean

(3) Feminist (4) Effeminate

Find out the most effective word from the

given words to fill the blank to make the

sentence meaningful.

For a few seconds, Prasanthi was
blinded by the powerful lights of

fhe oncoming car. P %

(1) heavily (2) totally

(3) extensively (4) massively

Find out the most effective word from the

given words to fill the blank to make the
sentence meaningful.

Some people from voting at the
last elections.
(1) denied (2) refused

(3) abstained (4) declined

Find out the most effective pair of words
from the given pairs to fill the blanks to
make the sentence meaningful.

I would like to your attention to the third
paragraph of my letter to the terms
of sale of the machinery.

21) invite, according

2) react, mainly

(3) draw, pertaining

(4) withdraw, regarding

Find out the most effective word from the

“given words to fill the blank to make the

sentence meaningful.
She was sworn
Minister of the country yesterday.
%1) off (2) out
3) at (4) in

Find out the most effective word from the
given words to fill the blank to make the
sentence meaningful.
When | was a child, |
every day instead of going by cycle.
(1) have walked .

(2) walked

(3) have been walking

(4) had walked

For the word clgi\ren below, choose the
alternative word which best expresses the
same meaning of it.
EMULATE

(1) IMITATE

{3) DISCUSS

(2) QUESTION
(4) ENCOURAGE

Series-A

as the Prime-

to school
1140.

143.

144.

145.

146.

147.

148.

150.

GE IT ON
‘ Google Play \

In the following question, find out which
part of the sentence has an error. If the
sentence is correct, the answer is "No
error”.

As soon as | will reach Hyderabad (a)/ |
will send you the books (b)/ you have
asked for (c)/ No error (d)

Ma @b @)c (4)d

Identify the best alternative to express the

meaning of the given proverb.

By the rule of thumb.

(1) By practical experiénce which is
rather rough

(2) By the use of force

%3% By the use of trickery

(4) By cheating

Find out the mis-spelt word from the
following.

(1) Acquisition (2) Discourtieous
(3) Conscience (4) Lusciousness

Convert the folliowing Direct speech
sentence to a sentence in Indirect speech.
She said to Abhilash,“Don’'t make a
noise"”.

(1) She told Abhilash that don’t make a
NoIse.

(2) She told Abhilash that do not make
noise.

(3) She requested Abhilash that don't
make a noise:

(4) She told Abhilash not to make a noise

Find out the most effective word from the

given words to fill the Blank to make the

sentence meaningful. '

How many students

from Japan ?.

in your

(A1) coming (2) - come
(3) comes (4) has come

For the word given below, choose the
alternative word which expresses the
same meaning of it.
ABANDON '

1) CONDENSE i.?} DENY
3) LEAVE 4) NEGLECT

For the word c?iven below, choose the
alternative word which best expresses the
opposite meaning of it.

DEFECTION

1) FREEDOM 2; JOINING
3) BURDENED (4) INVITATION

In the following question, find out which
part of the sentence has an error. If the
sentence is correct, the answer is “No error”.
| was shocked to hear (a)/ that his father
(b)/died of an accident (c)/ No error (d)
(1) a 2) b (3)c (4)d
18130
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